a(6 @) (rad)

i
S
w

aoa, ) (cm)

1072

a0 p,/p,)

107}

Ratio

1071 1

1002

I e S

NEPEPETTTY EEEETTTT H T B
e A
e O

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(B))

1072

R RRES RN

—=— DQM_original_step2__pt1to20_etalp4tolp6
—e— DQM_mkFit_step2__ ptlto20_etalp4tolp6
—— DQM_pixelCPETemplate_step2_ ptlto20_etalp4tolp6

..................................................

|
b

R

........................

-

= SEEEEREEE SEEEEEEEEEEE

o(d d.) (cm)

Ratio

z
T

1074

107%k=:

0. :
_1 2 3
10 L 1P (pca dbeamiindf



	Contents
	Page 1


